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[conditioner/ string/ turbine/ kinetic/ consumed/ converting/ absorb/
likelihood/ balcony]

1- We were playing the chess on the hotel ---------- when you telephoned us.

2- LED light bulbs use 75% less energy than ---------- light bulbs.

3- A wind ---------- uses wind to make electricity instead of using electricity to make wind

4- In cold weather condition, houses need to have walls that will ---------- heat.

5- Luckily, less fuel fossils are ---------- each year and they are saved for the next generations.
6- During a conversation with a friend, the ---------- of using a proverb is high.

7- What's the formula for ----------- pounds into kilos?

8- A machine which keeps the air in a building cool is called an air ---------- .
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9- Jack suffered from radiation sickness. ()
10- Hydropower is the largest renewable energy. ()
11- The condition of being physically strong is called ‘fitness’. ()
12- The tide comes very quickly in Bushehr. (---)
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13- apologize a. the land in or on which people or animals live
14- resource b. to tell sb that you are sorry for having done sth

c. avaluable material of a country
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15- The electric cars ... d. can be plugged into a charging unit at houses
16- Hybrid cars ... have overcome the problem of charging them
f. combine the benefits of gasoline engines and
electric motors
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[answer/ raised/ loving/ specific/ about]
17- Giving up smoking reduces the risk of the lung cancer.

18- Hundreds of the workers flocked to the factory.

19- Our talks covered a wide variety of topics.

20- Both of the earth and the moon revolve the sun.
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21- Parents ---------- their children constantly about their homework.
22- Nowadays, people don’t use ---------- energy; as they pollute the air.
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23- Easy -- , easy

24- Actions ---------- louder than words.

25- Don’t ---------- your chicken before they ---------- )
26- Out if --------- , out Of ====--=--- ,

Grammar -o
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27- The performance (has already started/ had already started) when we came in the hall.
28- The airplane (had left/ would leave) the airport by the time we arrived.

29- To avoid polluting the nature, clean energy (should use/ should be used).

30- Jane didn’t go to the party because she (hasn’t been invited/ hadn’t been invited).
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31- You ---------- more careful when you are going to drive at night. (must be)
32- - the museum ---------- blue by the painter tomorrow? (paint)
33- This medicine ---------- before lunch. (should not take)
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34- What will you do if you lost your passport?

35- The book borrowed from the library last weekend.
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The goods was sent by plane.
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I would like to use advanced monolingual dictionaries.
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38- After I had finished my work in the office, |
39- Before the plane landed, we ------
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40- ever/ have/ you/ plant/ any/ seen/ a power?

41- entries/ this/ explains/ issues/ arranged/ how/ section/ in a dictionary .
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42- The waste should ---------- every night to ---------- to the landfill. v

43- The injured man ---------- to the nearest hospital immediately.
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Photovoltaic solar panels ----(44)---- sunlight as a source of energy to generate electricity. The ----(45)--
-- source of all energy on planet Earth is from the sun. Solar power can be used for heating up homes and
other buildings. Sometimes solar power for heating can be passive. This is when there are no mechanical -
---(46)---- used to move the heat around. Passive heating helps to keep houses warm in the winter, to heat
up swimming pools, and even makes our car warm when we park it outside. Active heating is when there
are mechanical components to help move the heat around. The sun ----(47)---- to heat up water or air that
is then pumped around a building to ----(48)---- even heat in all the rooms.

44- 1) take place 2) take off 3) take in 4) take care of
45- 1) final 2) primary 3) global 4) cellular

46- 1) connections 2) components 3) involvements 4) reactions
47- 1) uses 2) can use 3) used 4) can be used
48- 1) prevent 2) practice 3) provide 4) recommend
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https://en.wikipedia.org/wiki/Sunlight
https://en.wikipedia.org/wiki/Electricity
https://www.ducksters.com/science/sun.php
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I always tell my students that a paragraph is a group of sentences that work together to develop an idea.
How large or small that idea may be depends on what it is. On average there are usually between five to
ten sentences in a paragraph. There could be fewer or more, depending on the type of writing that a
person is doing. You'll notice that paragraphs in a sentence are sometimes composed of just one or two
sentences. Sentences in a novel or an essay could number well over 20 or 30 sentences. The author is one
variable. Then you have to consider the format, the audience, the purpose, the topic, and an assortment
of other things when judging an appropriate length for a paragraph.

A basic all-purpose paragraph is five to six sentences in length, and it may or not be indented. The
indentation is the small blank space that appears just before the first sentence, which is usually the topic
sentence. This is then then followed by three or four sentences that support the topic sentence. The
paragraph ends with a concluding sentence which includes the author’s final thought. This is the
structure that many (but not all) American English teachers expect from their students.

¢ True or False?
------ 49. A space left at the edge of a line of writing is called ‘indentation’.
------ 50. It’s impossible for a paragraph to have more than five sentences together.

o Answer the following questions!
51- Define a concluding sentence!

1- a spoonful of sugar

2- a pinch of salt

3- a blob of cream

4- a sprinkling of
chocolate

5- a dash of milk

6- a drop of olive oil

7- chunks of vegetables

8- a hunk of cheese

9- a bunch of grapes

10- a bar of chocolate
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[conditioner/ string/ turbine/ kinetic/ consumed/ converting/ absorb/
likelihood/ balcony]

1- We were playing the chess on the hotel ---------- when you telephoned us
2- LED light bulbs use 75% less energy than ---------- light bulbs
3- A wind ---------- uses wind to make electricity instead of using electricity to make wind
4- In cold weather condition, houses need to have walls that will ---------- heat.
5- Luckily, less fuel fossils are ---------- each year and they are saved for the next generations.
6- During a conversation with a friend, the ---------- of using a proverb is high.
7- What's the formula for ----------- pounds into kilos?
8- A machine which keeps the air in a building cool is called an air ---------- .
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9- Jack suffered from radiation sickness. ()
10- Hydropower is the largest renewable energy. ()
11- The condition of being physically strong is called ‘fitness’. (--)
12- The tide comes very quickly in Bushehr. (-----)
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13- apologize a. the land in or on which people or animals live
14- resource b. to tell sb that you are sorry for having done sth
c. avaluable material of a country
D) .53l plxil ol O3 5 il 1 ! :apologize -1y
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15- The electric cars ... d. can be plugged into a charging unit at houses
16- Hybrid cars ... e. have overcome the problem of charging them

f. combine the benefits of gasoline engines and
electric motors
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[answer/ raised/ loving/ specific/ about]

17- Giving up smoking reduces the risk of the lung cancer. #
18- Hundreds of the workers flocked to the factory. =
19- Our talks covered a wide variety of topics. =
20- Both of the earth and the moon revolve the sun. =

B 0 SR 1y 4y Olb gu yhad K O3 &S § :increases # reduces -\Y
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21- Parents ---------- their children constantly about their homework.
22- Nowadays, people don’t use ---------- energy; as they pollute the air.
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23- Easy , easy
24- Actions ---------- louder than words.
25- Don’t ---------- your chicken before they ---------- .
26- Out if --------- , out Of ---------- .
B0 3k 100,970 :Easy come, easy go! v
Cnsd 310 557 i Hg AT o 9 :Actions speak louder than words. ¢
Alod 0 b ST1) a9 ‘Don’t count your chicken before they hatch! -Yo
d o Aol pagye Jo ‘Out of sight, out of mind. -
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27- The performance (has already started/ had already started) when we came in the hall.
28- The airplane (had left/ would leave) the airport by the time we arrived.

29- To avoid polluting the nature, clean energy (should use/ should be used).
30- Jane didn’t go to the party because she (hasn’t been invited/ hadn’t been invited).
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31- You ---------- more careful when you are going to drive at night. (must be)
32- - the museum ---------- blue by the painter tomorrow? (paint)
33- This medicine ---------- before lunch. (should not take)
WS (Sl 50 (I8 ad By S5 SOyl b Lo must be -
b Aalgs 08) 2T &Ky (ol tawgd 0380 () LT :Will/ be painted -1
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3- geton (sth) OERERED (-
phrasal verb R N
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to go onto a bus, train, aircraft o i
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34- What will you do if you lost your passport?
35- The book borrowed from the library last weekend.

(P95 £9 (b y0) 380 (p ¥ ) Dl o8 51 (88 0 J 4> (would ;oo i) :will -v¢
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36~ = m e e e e e e e e e e e e ?
The goods was sent by plane.
R e ?
I would like to use advanced monolingual dictionaries.
36- How was the goods sent?
37- What would you like to do?

Writing -~
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38- After | had finished my work in the office, | ----------=-==-===--=-—- - -,
39- Before the plane landed, We —-----===== e s e

38- After | had put on my shoes, | went out.

39- Before his plane landed, we had got to the airport.

(0303 1) amlod L po Ao O LIB o 1) diskyy o 4 Dbl Y-

40- ever/ have/ you/ plant/ any/ seen/ a power?

40- Have you ever seen a power plant?
41- This section explains issues like how entries are arranged in a dictionary.
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42- The waste should ---------- every night to ---------- to the landfill. o
The waste should be collected every night to be sent to the o
landfill, o ;y W)
g .,:,’ v ﬂ“,, ‘ 1 ;.'g‘.:::,;:y’f:f_-ﬂ
(to collect/ to send)
43- The injured man ---------- to the nearest hospital immediately. )"‘"q

The injured man was taken to the nearest hospital immediately.
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(to take)
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Photovoltaic solar panels ----(44)---- sunlight as a source of energy to generate electricity. The ----(45)--
-- source of all energy on planet Earth is from the sun. Solar power can be used for heating up homes and
other buildings. Sometimes solar power for heating can be passive. This is when there are no mechanical -
---(46)---- used to move the heat around. Passive heating helps to keep houses warm in the winter, to heat
up swimming pools, and even makes our car warm when we park it outside. Active heating is when there
are mechanical components to help move the heat around. The sun ----(47)---- to heat up water or air that
is then pumped around a building to ----(48)---- even heat in all the rooms.

44- 1) take place 2) take off 3) take in 4) take care of
45- 1) final 2) primary 3) global 4) cellular
46- 1) connections 2) components 3) involvements 4) reactions
47- 1) uses 2) can use 3) used 4) can be used
48- 1) prevent 2) practice 3) provide 4) recommend
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https://en.wikipedia.org/wiki/Sunlight
https://en.wikipedia.org/wiki/Electricity
https://www.ducksters.com/science/sun.php
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I always tell my students that a paragraph is a group of sentences that work together to develop an idea.
How large or small that idea may be depends on what it is. On average there are usually between five to
ten sentences in a paragraph. There could be fewer or more, depending on the type of writing that a
person is doing. You'll notice that paragraphs in a sentence are sometimes composed of just one or two
sentences. Sentences in a novel or an essay could number well over 20 or 30 sentences. The author is one
variable. Then you have to consider the format, the audience, the purpose, the topic, and an assortment
of other things when judging an appropriate length for a paragraph.

A basic all-purpose paragraph is five to six sentences in length, and it may or not be indented. The
indentation is the small blank space that appears just before the first sentence, which is usually the topic
sentence. This is then then followed by three or four sentences that support the topic sentence. The
paragraph ends with a concluding sentence which includes the author’s final thought. This is the
structure that many (but not all) American English teachers expect from their students.

e True or False?
------ 49. A space left at the edge of a line of writing is called ‘indentation’.
------ 50. It’s impossible for a paragraph to have more than five sentences together.

e Answer the following questions!
51- Define a concluding sentence!
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A concluding sentence includes the author’s final thought about the topic.
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